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1/ Quotes for Power box upgrade 

Accept quote from Calco for $3885 inc GST subject to approval from Hume Property Department. Kevin Wood to 

supply costings to rewire power points in the shed. Timings – Calco once approval is given by Hume and other 

works by Kevin Wood once costing to rewire power points has been approved by the committee. 

2/ CPR Refresher course. Shed will only subsidise 50% of the course  

3/ Sanitizer grant and purchase update. Guides to borrow 1 sanitiser unit  

4/ Membership and membership dues update. Only 5 unpaid membership fees.  

5/ ACNC Update. Committee members update on site.  

6/ Masks for Covid 19. Currently masks must be worn and will be responsibility of members. Will abide by govern-

ment regulations when shed reopens. 

7/ Repair/replacement of spindle sander Repairs cost inc freight $330 plus GST. Replacement cost $450 plus GST. 

Moved to purchase new one  

8/ Web page and Facebook – Set up Communication Committee to supply recommendations and look after Face-

book, Web Page and Newsletter. 

 

Meeting closed 10.44am 
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This test is to ascertain your mental state now. If you get one right you 

are doing ok, if you get none right you better go for counselling. (I'll 

meet you there.) 
There are 4 test questions.  Don't miss one.  

�
���
������
����

�����������
�����������	������������	��	���	���	<��
������������� ������������������������
��	������	��

����	��
�����	�����������
 

������������
	
���: Open the refrigerator, put in the giraffe, and 

close the door.  

This question tests whether you tend to do simple things in an overly  

Complicated way.  
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���� Open the refrigerator, take out the giraffe, put in the  
elephant and close the door.  This tests your ability to think through the  
repercussions if your previous actions.  
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Step 1 
Set the microwave on its lowest setting. On most microwaves, this is "defrost" or 
lower. Whatever your microwave's settings, choose one that runs on roughly 200 to 
360 watts. 

Step 2 
Place the wood on the outer edge of the carousel plate so that it rotates around the 
cavity of the microwave. Place two to three paper towels underneath the wood to 
absorb the moisture the wood gives off as it dries. You may place more than one 
piece of wood in the microwave at a time as long as they fit on the outer edge of the 
carousel and none of the pieces touch each other (touching pieces may ignite). 

Step 3 
Microwave the wood for 1 to 1 1/2 minutes. Never leave the wood unattended while 
it is drying. If you notice smoke, stop the microwave immediately 

Step 4 
Remove the wood from the microwave with oven mitts or heavy work gloves. Place 
the wood on the counter to release the steam. 

Step 5 
Lift the wood off of the counter after 30 seconds to check the amount of condensa-
tion underneath the wood. Then allow it to cool to room temperature and to release 
the moisture removed by the microwave. 

Step 6 
Repeat until little the wood produces little condensation while it cools down to room 
temperature. Do not try to nuke away all of the condensation. If the wood is too dry, 
it may smoulder or ignite. 
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